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(1) y=Az2+2 =
(2) y=Asinx+ Bcoszx =
(3) y=Asinz+ Be” =
@ y= s =
5) y= Acos(;rz)JrB N
6 y=C+2 =
(1) y= % + Bcosz —
(8) y=Ax®+ Bcosx =
9 v= a5 =
(10) y=CeP= =
(11) y = ae®®’ =
(12) y= £ S
(13) y=4+B =
(14) y= 25 —
(15) y=CaP =
(16) y = (Az? + B)3 =
(17) y= Cze D= =
(18) y= A2® + Bx =
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zy = Axz3 + B

Y — Atanx + B

COosS ™

ye ¥ = Ae Tsinx + B

ln(%) = Ax? +1n(B)

axy = Acos(nz) + B

y=D(3)+C

xy = Brcosz + A

ks = Alg) + B
1_ g1

y=A()+B

In(y) = Dz + In(C)

In(y) = bz? + In(a)

1 _ D1 1
v=clzmte
zy =Br+ A
1 __ 1 C
y—DZ*tDH

In(y) = DIn(z) 4+ In(C)
Yy =Axz*+ B
ln(%) = —Dz + In(C)

Y=Arz+B
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